Math 130 Spring 2006 Name:

TEST 1 @ 140 points <YW DINS

Each exercises is worth 15.50 points (15 for proof and..50 for neatne
must be shown for each exercise. Do not just write down an answer.

ss and good mathematical forrnat) Complete steps
No proof, no credit given!

PART 1

Solve all exercises

1. Let 4(2,-1) and B(-3,1) be two points in a plane.
a) Find an equation of the circle with diameter 4B (note that the diameter is twice the radius)
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b) Find the exact x-intercepts (if any). ¢) Find the exact y-intercepts (if any).
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2) Sketch the graph of y = 2|x - 1| +3 by showing all transformations applied to the basic function.
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2, if x<-3
f(x)=4-2x+1, if -3<x<2
x=2, if 2<x<6
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Answer the folloWing questions:
a) What is the domain of the function? b) What is the range of the function?
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¢) Find f(l} f(_l), £(8). and £ (-4).
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d) On what interval(s) is the function increasing ? X e ( 2 6)

On what interval(s) is the function decreasing ? X & [ -5 2 ]

c (-%,-3
On what interval(s) is the function constant? X e C / )




1 . . . .
4)Let f(x)=2x"-x’ +5 - Is this function even, odd, or neither? Show appropriate work.
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5) Let x* +y* =10.

a) What does this equation represent? Identify the center and radius.
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b) Does thls equation represent a function? Justify your answer.
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¢) Is the graph of the above equation symmetric about the x-axis? Show all work.
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d) Is the graph of ({e above equation symmetric about the y-axis? Show all work.
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e) Is the graph of the above equation symmetric about the origin? Show all work.
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6) Let f(x)=x*+1 and g(x) 1
x
a) What is the domain of f?
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b) What is the domain of g?
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¢) Calculate (/o g)(x) and its domain.
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PART I1

Choose THREE exercises from the following list. Show clearly which exercises you are solving.
You may solve the forth one for extra credit for 7 points. Show clearly which exercise is for extra credit.

1) Solve the following equation. Make sure to check the solutions.

N2N7x+2 =Bx+2

2) Solve the following equation by using an appropriate substitution or by factoring.

10x72+33x'=7=0

3) Solve the following equation by using an appropriate substitution.
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4) Find the domain of the following function.

f(x)=\/x2—x—6.

5) Solve the following inequality.
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6) Solve in terms of x.
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x+y+2z=15

T

&) N oIz =V 32 /

'
IV Txriz = 324H2 /
¥ (7X+e) = ax 4 2x+ Y
20X 8= Gut4 )22 +7
G- fox =4 =0

(gx+2)(X-2) =0

e b x»/'—; e x= 2
>
R - 2@*2 atc =12
> T _‘Z,Lf :\[‘:\;
AVFE+r2 = V732 z Frwe
?
vz =V %
7
= Z
VK




® 032y —T=0

vt T E |

3 Q) .,L,Qsz) -3=0o

vaL \Q)«/) '(,L /[
Mo (*421-3=0

(£+3)t-1) =0

3 4
QX*/) = —/ @Y—/) :/
X~/ = (—3/3 AX— =/
x~1= 27 QX = 2

O 7ﬁ/x) \)/:;'2

Sewccetn =

Omoulind - x%x-6 o
(x3)YxR) >0

provatels Tp 70
17+

| secaur) |




; 2, s ‘
@ X+ X >0 X \"Da ~ —1 | Fo

Q(*/)z xr \ - - U A4 = =~ A
Qo) i ey s—_
(x+1)* @H)z\ e F D

(>U—22/x-/) + )0 — l — 0 -l— —)—\
. (xXH)® / —
\xc(”o—z]()[/aoj {
ok _ |
/ Q\‘;s ; 'a | ;L

xé (~%-2)U [’//“%/\

7 X=-fs (@)
)

7/ X=o0 D G
)

TP x= 2 WFH _@
)

O [va+</ \%—/3 /-2 J Bxt+v¥y- 2=/3 1'

X,L>,,L2%:/'>‘ /X,L/w;«/s/y

éX?’*f/—Z? 26 ) 3/(7‘5’/" P =/3
X+ /v+2?~=/§“ -—y)(._y/..{.;:_éo

AR, S E—
Z———;—)—Gy | ~XF+¥)= T2

- £
[7 7 X 7/ ‘? /¥7L%2//

.72‘4«( LR u.l.zéf\w'#r bece bog df >0l o
(X0 S+ 8) Farl) ,Xe R



